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B.C.A. DEGREE (C.B.C.S.S.) EXAMINATION OCTOBDR 2012
Third Semestor
Core Courae-—DDSIGN AND ANALYSIS OF ALGORITHMS
'I‘lme Three Hours Maximum Woight : 25
| Part A (Objective Type) '

Angwer all questiona. ’
Each bunch of four questions carries a weight of 1.

1. 1 Two main measures for the efficiency of an algorithm are :

«(a) Processor and Memory. (b) Complexity and Copacity.
. (c) Time and Space. - . ) Dnta‘nnd Space. *
2 The algorithm reporting 0(1) time complexity indicate : ,
(é) Linear time complexity, o (b). Quadratic time complexity.
(©) Cubic' time eomplexi_ts{. (d) Constant running time.
3 Which of the following‘ case does not exist i.lll complexity theory ?
(a) Bestcase. _ (b) Worst caso,
() Null cage, - (d) Aveisge case.
4 The worst case time comple;:ify of quicl; sort is |
(@) O(). () 0.
(© 0(n logn).. : (d) O@®d). -
II. 5 Toarrange the books of library the best method is ;
- (a) - Bubble sort. : (b) Quick. sort
(c) Merge sort. : ) - Henp gort.
- 6 Merge sort uses: ' | o |
' (a) Back trnckiné approach, (b) Divide and conquer strategy.
(¢) Heuristic approach. "(d) Greedy approach,
7 Quick sort uses: - ' .
(a). Dynamnc programmmg ‘(h) Divide and conquer strategy.'
(0 ‘Back tracking, : (d) Groedy method.
8 Which of the followmg algorithm has n log (n) time complexity ?
(a) Heap sort. (h) Quick sort,
(¢) Inscrtion sort. ' (d) Seloctionsort.
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Which of tho following mothod is not n sequantial ropresontation ?
(n) Adjnconcy List Reprosontation, -
(b) Adjacency matrix repreaontation,
(o) Incldenco Matrix ropresentation,
(d) DPath Matrix roprosontation, .
Choose the tochniquo which s suitable (or list of data cloments “roprosented usmg
non-linoar structures ? ,
(n) Intorpolation sonrch. (b) Dopth-first soarch,
(¢) IFibdnacei soaxch. (d) Binary search,
Thc worst caso tho numbor of compnriaons nooded to soarch for a koy in a binary search is :
(n) O(log, log, n). (b} O (log, n).
© O (n). @ oq. -
The dopth-firet ordor is samo ns ;
(n) DBroadth-first oxrdor, (hy  Proordor.
(¢) Linoar order. (d; Dost ordor.
The maximum numbor of nodes of lovel J of a binary treo is :
() % - by 2-1,
() 24, ' (1) 2-%,.
Nodes that have zero degroo are called :
(a) Loaf nodos. (b) Non-terminal nodos.
(c) Parent node. | (d) None of the above.
Which algorithm is used to find out afnglo shortest pathe ?
(n) Prims, ' " (b) Dijkstras.
() Kruskale. - ~ (d), DBacktracking.
0/1 knapsack problem can be solved nsing : ,
(a) Dynamic programming. (i)) Divide and conquer strategy.
(c) Linear programming. - (d) Greedy mothod.
dx1=4)
Part B (Short Answer)

Answer any five questions.
Each question carries a weight of 1.

Define algorithm.
Defino O notations of time comploxity.
What is meant by aprori analysia 7
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What do you mean by internal semhmg ?
What is DFS ?
What is Hamilton circuit ?
Define backtracking.
What is dynamic programming ?

Part C (Short Answer)

Answer any four quesuons
. Each questton carries a weight of 2.

What are the properties of an algorithm ?
Explain Strassen’s matrix multlphcatlon
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6x1=5)

LetL={71, 17, 86, 100, 54, 27} be a unordered list of elements. Sort the above elements using

selection method.

Dlscuss an apphcatmn of minimum cost apphcatlon tree.

Write the Dukstra 8 algonthm for the single source shortest path problem

Explain sum of subsets problem

Part D (Short Answer)

Answer any two questions.
- Each question carries a weight of 4.

Explain quick sort with suitable example.

Explain greedy method using knapsack problem,

Explain eight queen problems.

(4% 2=8)

@x4=8)
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